
https://www.passapply.com/e20-807.html
2024 Latest passapply E20-807 PDF and VCE dumps Download

 

 

 

E20-807Q&As

Expert - VMAX All Flash and VMAX3 Exam

Pass EMC E20-807 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/e20-807.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by EMC
Official Exam Center

 

 

E20-807 PDF Dumps | E20-807 Study Guide | E20-807 Braindumps                                1 / 4

https://www.passapply.com/e20-807.html
https://www.passapply.com/e20-807.html
https://www.passapply.com/e20-807.html


https://www.passapply.com/e20-807.html
2024 Latest passapply E20-807 PDF and VCE dumps Download

QUESTION 1

A server is hosting an online application and is experiencing performance issues. Which component of the architectural
layer has the lowest probability of impacting performance? 

A. Operating System 

B. Server 

C. Application 

D. Disk 

Correct Answer: A 

 

QUESTION 2

Based on the exhibit, where is data considered to be in motion? 

A. SAN and replication network 

B. Host, SAN, and arrays 
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C. Host and arrays 

D. SAN, arrays, and replication network 

Correct Answer: C 

 

QUESTION 3

A company is using SRDF/AR Multi-Hop as a disaster recovery solution. Their primary application requires 27.3 TB on
their primary site. How much storage capacity is required on the third site? 

A. Only 27.3 TB 

B. 27.3 to 54.6 TB 

C. Only 54.6 TB 

D. Greater than 54.6 TB 

Correct Answer: C 

 

QUESTION 4

A VMAX3 array needs additional capacity added. The array is providing acceptable performance and the administrator
wants to ensure performance is maintained as new drives are added. 

A VMAX3 array needs additional capacity added to maintain performance? 

A. Add storage to all tiers maintaining the existing ratio 

B. Add storage to a new internal SRP 

C. Add storage to the most over utilized tier 

D. Add storage to a new external SRP 

Correct Answer: A 

 

QUESTION 5

On a VMAX3 array, under which type of workload will Selective Cache Mirroring provide significant performance
optimization? 

A. Large block Write Miss I/Os 

B. Small block Write Hit I/Os 

C. Large block Read Miss I/Os 

D. Large block Read Hit I/Os 
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Correct Answer: A 
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